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QUESTION 1

When a client station sends a broadcast probe request frame with a wildcard SSID, how do APs respond?
A. After waiting a SIFS, all APs reply at the same time with a probe response.

B. After waiting a SIFS, a designated AP sends an ACK, and then replies with a probe response.

C. Each AP sends its own ACK, and then follows the ACK with a probe response.

D. For each probe request frame, only one AP may reply with a probe response.

E. Each AP responds in turn after preparing a probe response and winning contention.

Correct Answer: E

QUESTION 2

Given: XYZ Corporation is experiencing connectivity problems with their existing building-to-building bridge link. A
concrete wall on the roof of one building is partially blocking the Fresnel Zone, and the connection is dropping many
frames. The administrator moves the antenna to an area not obstructed by the concrete wall and then realizes the RF
cable cannot reach the new location.

If an extension cable is added to move the antenna, what are the likely results?

A. The data throughput rate will increase because VSWR will decrease.

B. The Equivalent Isotropically Radiated Power (EIRP) will decrease.

C. The antenna\\'s azimuth beamwidth will decrease.

D. The size of the Fresnel zone will increase.

E. The likelihood of a direct lightning strike will increase.

Correct Answer: B

QUESTION 3

Which features are incorporated in the 802.11-2007 specification and are recommend for robust WLAN client security?
(Choose 2)

A. SSID hiding

B. CAPWAP with DTLS
C. 802.1X/EAP

D. CCMP cipher suite

E. IPSec VPN
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F. MAC address whitelists

Correct Answer: CD

QUESTION 4

Using the exhibit as a reference, what is the maximum number of spatial streams that could be used for a downlink HT-
OFDM transmission from AP-1 to STA-3?
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A. One spatial stream, because the BSS must maintain backwards compatibility with STA-2, which supports only
802.11g (ERP) without MIMO or multiple spatial streams.

B. Two spatial streams, because the number of spatial streams for an HT-OFDM transmission is limited to the
capabilities of the least capable HT station in the BSS.

C. Two spatial streams, because the third transmit chain in the HT AP must be used simultaneously for protection
mechanisms with the 802.11g (ERP) station.

D. Three spatial streams, because HT-OFDM transmissions will be preceded with protection mechanisms using a basic
data rate for STA-2 and possibly STA-1.

Correct Answer: D
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QUESTION 5

ABC Company has thousands of Wi-Fi users accessing their network on a daily basis. Their WLAN consists of 700
access points, 6 WLAN controllers, and a wireless network management system. What network functions are performed
by the enterprise-class WNMS? (Choose three)

A. RF pre-deployment planning and post-deployment reporting of access point locations on a floor plan

B. Performance and security monitoring of WLAN controllers with alarms and natifications for administrative staff

C. Radio management, fast roaming, key caching, and other centralized control plane operations

D. Centralized bridging of guest data traffic and application of firewall and QoS policies to data

E. Management of WLAN controller configuration and provisioning of firmware updates

F. Generating, encrypting, and decrypting 802.11 frames and collecting RF radio data.

Correct Answer: ABE
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